User Manual

English Francais Deutsch Italiano
(DVGA heatsink x1 | WRadiateur VGA x1 | @ VGA-Warmeableitblech x1 | @ Dispersore di calore VGA x1
(@O0mni-Mount Bracket x2 | @Support Omni-Mount x2 | @ Omnimount-Halterung X2 | (2 Staffa Omni-Mount x2
@O0mni-Mount Backplate x1 | ®Plaque arriére Omni-Mount x1 | @ Omnimount-Riickplatte x1 | @ Piastra posteriore Omni-Mount x1
@Fan Secure Holder x1 | @Porte ventilateur de fixation x1 | @ Lifterhalterung x1 | @ Supporto ventola x1
®UNC 6-32 Screw x2 | ®Vis UNC 6-32 x2 | ® UNC 6-32-Schraube x2 | ® Vite UNC 6-32 x2
®M4 Screw x6 | ®Vis M4 x6 | ® M4-Schraube x6 | ® Vite M4 x6
(@Fan Secure Backplate x1 | @Plaque arriére de fixation du ventilateur x1 | @ Liifterriickplatte x1 | @ Piastra posteriore ventola x1
®M3 Screw x7 | ®Vis M3 x7 M3-Schraube x7 Vite M3 x7
(©M3 Nut x7 | @Ecrou M3 x7 | @ M3-Mutter x7 | @ Dado M3 x7
(0Spring-loaded Screw x5 | @Vis de pression x5 Federschraube x5 Vite a molla x5
@)Fan Secure Bar x1 ()Barre de fixation du ventilateur x1 @ Liifterbefestigungsleiste x1 | @) Barra ventola x1
(2RAM heatsink A x4 | (»Radiateur RAM A x4 | @ RAM-WirmeableitblechA x4 [ @ Dispersore di calore RAM A x4
(3RAM heatsink B x18 | (3Radiateur RAM B x18 | @ RAM-Wirmeableitblech B x18| (3 Dispersore di calore RAM B x18
(HRAM heatsink C x4 | @Radiateur RAM C x4 RAM-Wirmeableitblech C x4 Dispersore di calore RAM C x4
(5Thermal Compound x1 | (Composé thermique x1 | (5 Wirmeleitpaste x1 | @ Composto termico x1
®Zip Tie x5 | ®Attache x5 | ® Kabelbinder x5 | ® Fascetta x5
(D)ATI 5800 VRM Heatsink x1 | (DDissipateur thermique ATl 5800 VRM x1 | @ ATI 5800 VRM-Kiihlkdrper x1 | @ Dispersore di calore ATl 5800 VRM x1
(M3 x6 screw x2 | ®Vis M3 x6 x2 M3 x6 Schraube x2 Vite M3 x6 x2
Espaiiol gLpEhy A7 st=0f

(® Disipador térmico VGA x1 | @ VGAZEE x1 | @ VGAY —S —&i{k x1 | D VGAZA X x1
2 Soporte OmniMount x2 | @ ZALIEMEZE x2 | @ GPUBEIERAI S~ vy b+ x2 | @ GPULDEE B3t x2
®) Placa posterior OmniMount x1 | ® ZAHIEER x1 |® GPUEIER/SvY FL—k x1 | GPU LEE HEY0IE x1
@ Soporte de sujecion del ventilador x1 | @ EEBEEXZLE x1 | @ Z7VEERIVE— x1 |@ ™ 2™ EQ x1
® Tornillo UNC 6-32 x2 | ® UNC 6-328# x2 % lrilhllc ;‘-32 Y "z % llf/ll\l4CLF/\_+32 LEAH xz

: 4 x x
e e et . © | OMamEk | o TrUERNY ST~ x| @B DH EHE »

jecion del ventilador x1 | @ BEEEY x1 N
® Tornillo M3 X7 M3 844 X7 M3 2 X7 M3LiA X7
- © M3Fw b x7 | © M3HE x7

© Tuerca M3 x7 | @ M3 12ig x7 W RTY =R <5 | 0 AT2 LA} 5
Tornillo de apriete por resorte x5 REIR AR x5 ® 77 VERR/A— “ | @ DA H} X1
@ Barra de sujecion del ventilador x1 | O AREEEER X1 | @ RAME— RS oA @ | @8 BIEATA x4
(@ Disipador térmico RAM A x4 | @ TIGEERIEE A x4 | @ RAME— R > 4B xig| ® & GIEAA B x18
® Disipador térmico RAM B x18 | @ FCIEELEEE B x18| @ RANE— kS >4 C x4 B EAC x4
Disipador térmico RAM C x4 STIBESEIER C x4 |® 5 YR « | ®HEDelA x1
@® Compuesto térmico x1 | ® EHE x1 | ® 77 VEERL x5 | ©@ & ELO| x5
® Brida x5 | ® AEEERS x5 | @ATIS800VRM E— b >4 x1 | @ ATI5800 VRM & & x1
(@ Disipador ATI 5800 VRM x1 | @ ATI 5800 VRM &8 x1 M3 x6 R x2 M3 x6 L} AF x2
Tornillo M3 x6 x2 M3 x6 1245 x2

MK-13 VGA Cooler

MK-13 Fan installation Guide

For Single VGA Car nfiguration

Note:

*The Fan Secure System will only support 25mm thick fans.
*To ensure a more steady Fan Secure System installation, a chassis with at least
20cm of width is strongly recommended.
*To achieve best optimal performance, have one of the fans blowing as closely as
possible to the VGA VRM/MOSFET area for a more direct and faster cooling effect.

{
Option 1. 120x25mm Fan x4

MK-13 Fan Secure System
allows a maximum installation
of four 120mm x 25mm fans.

-

Option 2. 120x25mm Fan x2, 92x25mm Fan x2

Option 3. 120x25mm Fan x3

Some VGA cards have the power connector in the way
thus preventing installation of four 120mm fans. In those

cases,

two 92mm fans and two 120mm fans are

suggested. Another option is to go with three 120mm fans.

~

For Duo VGA Car nfiguration

/
Option 1. 140x25mm Fan x1

Install a 140mm fan on the Fan
Secure System in the first/top
(expansion) slot of the chassis.

&

Install

Option 2. 140x25mm Fan x1

a 140mm on the Fan
Secure System in the last/
bottom (expansion) slot of the
chassis.

J

www.prolimatech.com



MK-13 VGA Cooler

©

Step 1 «—Spring-loaded Screw
Hold the VGA card and have the gold finger side face

toward you with the VGA card facing downward.

Insert the first spring loaded screw through the 9

Omni-Mount Backplate and through the VGA card ®
starting from the upper right hand corner.

Omni-Mount Backplate

VGA Card\

Step 2

Use the same method for lower left hand
corner. After this is done the other two
remaining sets of holes will align
automatically. Use the spring loaded screw
to secure in place.

.

~<—— M3 x6 Screw (9

g ~«—— Spring-loaded Screw {0

Installation of the RAM Heatsink Installation of the ATl VRM Heatsink Compatibility List
XATI 5800 VRM heatsink is suitable for % @ @ W@ _

XCaution , % \‘ ATl Radeon HD 5800 Series (5850/5870). nVidia ATI nVidia
@ RAM heatsink A Peel off the film from /
® RAM heateink 5 the RAM heatsinks. .~/ In accordance to the PCB layout, ! Geforce GTX 260 Radeon HD 5870 | Geforce GTS250
@ RAM heatsink C select the best RAM heatsinks ;' Geforce GTX 275 Radeon HD 5850 | Geforce 9800GTX+
LLLLLY for your VGA RAM and VRM. ' XCaution & O C % Geforce GTX 280 Radeon HD 4890 | Geforce 9800GTX
Whenever possible select the " Peel offthe fim from {48 WA ~—_ Geforce GTX 285 Radeon HD 4870 ge?me ggggg
. . . S ., ; 174 ATI 5800 VRM Heatsink Radeon HD 4850 eforce
the VRM heatsinks. 7 ©
biggest heatsink (RAM heatsink R R © casimie ““n" W Radeon HD 4830 | Geforce 8800GT
B) for best cooling effect. 7/

Radeon HD 3870 Geforce8800GTS (G92)
Radeon HD 3850 Geforce 7900 GTX

nVidia Geforce 7900 GT
Geforce 7900 GS
Geforce 8800 GTX Geforce 7800 GTX
@ Thermal Compound \ 42 & Geforce 8800 Ultra Geforce 7800 GT
Nvidia Geforce GTX 260 VGA Card °
H /\To ensure a more steady installation, a chassis with at least 20cm of width is strongly recommended.
- @ M3 Nut i /\ For a complete list of VGA cards please refer to www.prolimatech.com .
Installa tlon of the Fan Secure S Stem H ’ A To listed Models are based on ATl and Nvidia's reference designs.Manufacturers not following this reference layout will not work with MK-13.

h—@ M4 Screw
° —@ UNC 6-32 Screw

M4 Screw ® L ~_~{PC Chassis Backside

&

Fan Secure Bar«—

&

@2 2

Fan Secure Backplate

Slots “ o E
Fan Secure Holder

Step 1
Use the UNC 6-32 Screw to hold the Fan Secure OM3 Nut
Holder in place. Do not tighten yet. Step 2 Step 3
Next, put the Fan Secure Backplate in place and fully . . Step 4 Step 5
tighten it to the Fan Secure Holder using the M4 Use the M3 Screw and M3 Nut to secure the fan(s) It yotlé are :nzta(lilln'g :hre? Torrﬁ fatnhs, fpleaste Plug in for power to the fan power outlet on Use the M4 Screw to tightly secure the Fan
screws. Then go back to the UNC 6-32 screw and on the Secure Fan Bar. Adjust the fan(s) to the useh etlr?c ute 2P |ets (')b |gt. end ° ans% ©  the motherboard. This will allow a smoother Secure Bar (with the fan(s) attached) to the Fan
tighten all the way in. deSIre'd location. I?o no't tighten yet. eacr ?. r?r Fo rpreverr:] \{lmrarrl]on fufrln% fag installation for later steps. Secure Holder. Finally, after you have adjusted
Note: The included Fan Secure Backplate must be Warning: When installing fans on the Fan Secure %ﬁaﬁa't?or{ thr?aezai tieasx\lzvillube uce);ed our-a the fan(s) to the desired spot, fully tighten on the
installed to ensure a firmly secured installation. Bar, be sure to install fans that are parallel to the ’ P : M3 nut to firmly secure the fan(s) in place.
Note: If your chassis has the no-tool expansion slots, VGA card first.

UNC 6-32 screw can be omitted.

www.prolimatech.com




	mk-13     說明書   P1 
	mk-13 說明書  P.2

